Ratio

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

o
[N

.......................................

o
N

.........................................

+

'
+

=3

I
HR
WA AARAREAREI

B = TE B

=

o
iN

=

2
TPlpoT (PCA t%obea

mIint:eLf)3

Ratio

.............................................

I
HN
WA RARAREAREI

..........................................

'
+

+
A EEE XN
-+

=
o
iN

=

TPlpoT

2 3
(PCA 1 beamiinéf

—=— DQM_original_step2__pt1to1000_eta2p0to2p5
—e— DQM_mkFit_step2__pt1to1000_eta2p0Oto2p5
—— DQM_pixelCPETemplate_step2_ pt1to1000_eta2pOto2p5

lOG_ R R R L L
N : : P
15l
B T P beeaazoeaasd RET e

+

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

—

(um

N

d,

2o}
\%

100

T SR A e
G0+
e

7 RS SR S

e
4

+

2 3
- (PCA f%)obeamlinép



	Contents
	Page 1


